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QUESTION 1

Nadav wants to know how accurate estimates were on issues associated with version 2.2. Which report should he use? 

A. Time Since Issues Report 

B. Resolution Time Report 

C. User Workload Report 

D. Version Workload Report 

E. Time Tracking Report 

F. Single Level Group By Report 

Correct Answer: C 

 

QUESTION 2

You are the project administrator handling configuration changes requested by the users. 

Whenever possible, you want to handle the changes yourself without involving the Jira administrator. 

Which two changes might be possible for you to handle yourself? (Choose two.) 

A. The priority value Highest is not needed in the project. 

B. Watchers should only receive a notification when an issue is being resolved. 

C. Sam Smith should have the same permissions as Dwayne Johnson. 

D. Only QA managers should be able to bulk-edit issues in the project. 

E. Only certain users should be able set the TOP SECRET issue security level. 

Correct Answer: AD 

 

QUESTION 3

A user approaches you with a problem. 

She cannot see or edit the Priority system field on any of the screens of a Process Management project. 

What explains the problem? 

A. The field does not have the correct configuration context. 

B. She is not listed in the priority scheme. 

C. The field is hidden in the field configuration. 
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D. The field is not available for this project template. 

E. She does not have the correct permission. 

Correct Answer: C 

Reference: https://www.oasis-open.org/committees/download.php/51095/jira-manual-config.pdf 

 

QUESTION 4

In your last team meeting Scott showed a QA dashboard he has put together. It contains valuable data so he decides to
share it with the entire project. 

When you try to pull up the dashboard for the first time it shows multiple errors instead of the data you expected. 

The most common error is: The filter configured for this gadget could not be retrieved. Please verify it is still valid on the
issue navigator. 

Scott confirms, that the dashboard seems fine when he looks at it. What is the most likely cause for this behavior? 

A. The filters being used in the gadgets return issues that are hidden by a security level. 

B. The filters being used in the gadgets have been deleted. 

C. The filters being used in the gadgets contain corrupt JQL clauses. 

D. The filters being used in the gadgets are private or not shared with you. 

E. The filters being used in the gadgets contain field references that have been deleted. 

Correct Answer: D 

 

QUESTION 5

You are the project administrator for a Software Scrum Project. 

Time Tracking is globally enabled. 

Identify the reason why users are NOT able to log work. 

A. The Log Work field is not present on any project screens. 

B. The users do not have the Work On Issues permission. 

C. Time Tracking on the Scrum board is set to None. 

D. The issues do not have an Original Estimate. 

E. Issue estimation on the Scrum board is set to Story points instead of Original Estimate. 

Correct Answer: B 

Reference: https://confluence.atlassian.com/jirakb/unable-to-log-work-224400725.html 
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